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1)

a) ,  d=30000nmθ = 1.,22λ
𝑑

,λ𝑎𝑧𝑢𝑙 = 483, 5𝑛𝑚

θ = 1,22λ
𝑑 = 1,22*483,5

30000 = 589,87
30000 = 0, 01966 𝑟𝑎𝑑𝑖𝑎𝑛𝑜𝑠 * 180

3,14( ) = 1, 13𝑔𝑟𝑎𝑢𝑠

,λ𝑣𝑒𝑟𝑑𝑒 = 543, 5𝑛𝑚

θ = 1,22λ
𝑑 = 1,22*543,5

30000 = 663,07
30000 = 0, 0221 𝑟𝑎𝑑𝑖𝑎𝑛𝑜𝑠 * 180

3,14( ) = 1, 27𝑔𝑟𝑎𝑢𝑠

,λ𝑎𝑚𝑎𝑟𝑒𝑙𝑜 = 589, 0𝑛𝑚

θ = 1,22λ
𝑑 = 1,22*589

30000 = 718,58
30000 = 0, 0240 𝑟𝑎𝑑𝑖𝑎𝑛𝑜𝑠 * 180

3,14( ) = 1, 37𝑔𝑟𝑎𝑢𝑠

,λ𝑣𝑒𝑟𝑚𝑒𝑙ℎ𝑜 = 676, 5𝑛𝑚

θ = 1,22λ
𝑑 = 1,22*676,5 

30000 = 825,33
30000 = 0, 0276 𝑟𝑎𝑑𝑖𝑎𝑛𝑜𝑠 * 180

3,14( ) = 1, 58𝑔𝑟𝑎𝑢𝑠

b) ,  n=1   L=2,30m=230cm𝑥 = 2 * 𝐿 * 𝑡𝑎𝑛 θ
2( )

,λ𝑎𝑧𝑢𝑙 = 482. 5𝑛𝑚 𝑥 = 2 * 𝐿 * 𝑡𝑎𝑛 θ
2( ) = 2 * 2, 3𝑡𝑎𝑛 0,01966

2( ) = 4, 54𝑐𝑚

,λ𝑣𝑒𝑟𝑑𝑒 = 543. 5𝑛𝑚 𝑥 = 2 * 2, 3 * 𝑡𝑎𝑛 0,0221
2( ) = 5, 10𝑐𝑚

,λ𝑎𝑚𝑎𝑟𝑒𝑙𝑜 = 589𝑛𝑚 𝑥 = 2 * 2, 3 * 𝑡𝑎𝑛 0,0240
2( ) = 5, 51𝑐𝑚

,λ𝑣𝑒𝑟𝑚𝑒𝑙ℎ𝑜 = 676, 5𝑛𝑚 𝑥 = 2 * 2, 3 * 𝑡𝑎𝑛 0,0276
2( ) = 6, 34𝑐𝑚

2)  λ = 672 nm    L = 1,5 m   x = 1,3 cm

b=[672(nm)*1,5(m)]/0,013m= 77,5 μm𝑏 = λ.𝐿
𝑥

3)

𝑥
𝑛

= 𝑛 λ𝐿
𝑏  → λ = 𝑏.𝑥

𝐿 = 54.10−6.10−2

1 = 540. 10−9 𝑚 = 540 𝑛𝑚

Ou seja, a cor incidente na fenda é a verde.


